
C

2 31 4

B

A

D

E

F

MK01

14.02.2025I.Agar

WEIGHT: 

wood, metal, plastic A4
SHEET 1 OF 39SCALE: 1:13

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Mud Kitchen



C

2 31 4

B

A

D

E

F

MK01

14.02.2025I.Agar

WEIGHT: 

wood, metal, plastic A4
SHEET 2 OF 39SCALE: 1:13

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Mud Kitchen



 5556 

 3
64

5 

 2556 

 6
45

 

 R1
50

0 

 1500 

 R1500 

 1
50

0 

 R1500 

 1500 
 R1500  1

50
0 

Safety area

B

C

D

1 2

A

321 4

B

A

5 6

C

Mud Kitchen

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

REVISION

PART NUMBER / DWG NO.:

DRAWN

APPV'D

NAME SIGNATURE DATE

MATERIAL:

DESCRIPTION:

SCALE: 1:30 SHEET 3 OF 39

A4wood, metal, plastic
WEIGHT: 

I.Agar 14.02.2025

MK01



 3
64

5 

 5556 

 600  850  978 

 5
02

 

Foundation

Depth of foundation: 600mm

B

C

D

1 2

A

321 4

B

A

5 6

C

Mud Kitchen

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

REVISION

PART NUMBER / DWG NO.:

DRAWN

APPV'D

NAME SIGNATURE DATE

MATERIAL:

DESCRIPTION:

SCALE: 1:35 SHEET 4 OF 39

A4wood, metal, plastic
WEIGHT: 

I.Agar 14.02.2025

MK01



 2
40

 

 494 

 2
40

 

 2556 

 600  978  978 

 300 

 9
83

 

 6
73

 

 2
83

 

 6
42

 

ground

 645 

 3
00

 

 3
42

 

B

C

D

1 2

A

321 4

B

A

5 6

C

Mud Kitchen

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

REVISION

PART NUMBER / DWG NO.:

DRAWN

APPV'D

NAME SIGNATURE DATE

MATERIAL:

DESCRIPTION:

SCALE: 1:20 SHEET 5 OF 39

A4wood, metal, plastic
WEIGHT: 

I.Agar 14.02.2025

MK01



MK01 265mm Post

MK01 650mm Post

MK01 920mm Post

Profile post cap

MK01 55x265mm fridge rubber fixing

MK01 500x570mm fridge shelf

MK01 600x570mm fridge shelf

2x

4x

2pcs with groundfitting
2pcs without

4pcs with groundfitting
2pcs without

C

2 31 4

B

A

D

E

F

MK01

14.02.2025I.Agar

WEIGHT: 

wood, metal, plastic A4
SHEET 6 OF 39SCALE: 1:10

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Mud Kitchen



MK01 600x785mm fridge back panel

MK01 600x785mm fridge front panel

MK01 600x785mm fridge side panel 1

MK01 600x785mm fridge side panel 2

2x

MK01 630x6000mm fridge top panel

MK01 rubber panel

C

2 31 4

B

A

D

E

F

MK01

14.02.2025I.Agar

WEIGHT: 

wood, metal, plastic A4
SHEET 7 OF 39SCALE: 1:15

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Mud Kitchen



2x

MK01 600x135 stove side panel

MK01 600x150 stove panel

MK01 948x404 stove panel
MK01 978x60 stove panel

MK01 978x135 stove front panel

MK01 978x460 stove back panel

MK01 978x615 stove panel
MK01 sink

MK01 stove button

MK01 tap

Playground stove circle, yellow

4x

2x

C

2 31 4

B

A

D

E

F

MK01

14.02.2025I.Agar

WEIGHT: 

wood, metal, plastic A4
SHEET 8 OF 39SCALE: 1:15

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Mud Kitchen



MK01 600x135 oven side panel

MK01 600x295mm oven side panel

MK01 600x445mm oven side panel

MK01 948x404 oven panel

MK01 963x630mm oven panel

MK01 978x445mm oven back panel

MK01 978x445mm oven front panel

MK01 30x30x600 al. slat
3x

MK01 30x30x835 al. slat

MK01 profile fillet

Plastic corner 90° 65x65mm

4x

8x

C

2 31 4

B

A

D

E

F

MK01

14.02.2025I.Agar

WEIGHT: 

wood, metal, plastic A4
SHEET 9 OF 39SCALE: 1:15

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Mud Kitchen



M10x100 bolt DIN603

M12 Nut cover

M10 Washer DIN9054
M10 Nut DIN985

M12 Nut cover cap

Woodscrew 6x60 PP, OK, TRX

C

2 31 4

B

A

D

E

F

MK01

14.02.2025I.Agar

WEIGHT: 

wood, metal, plastic A4
SHEET 10 OF 39SCALE: 1:10

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Mud Kitchen



 7
05

 
 3

40
 

 5
0 

MK01 920mm Post

MK01 650mm post

C

2 31 4

B

A

D

E

F

MK01

14.02.2025I.Agar

WEIGHT: 

wood, metal, plastic A4
SHEET 11 OF 39SCALE: 1:8

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Mud Kitchen



MK01 rubber panel

MK01 600x785mm fridge front panel

M8 domed cap nut DIN986

M8 washer DIN125

MK01 55x265mm fridge rubber fixing

M8x40 bolt DIN603M8x40 bolt DIN603M8x40 bolt DIN603

B

C

D

1 2

A

321 4

B

A

5 6

C

Mud Kitchen

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

REVISION

PART NUMBER / DWG NO.:

DRAWN

APPV'D

NAME SIGNATURE DATE

MATERIAL:

DESCRIPTION:

SCALE: 1:7 SHEET 12 OF 39

A4wood, metal, plastic
WEIGHT: 

I.Agar 14.02.2025

MK01



M6x50 DIN7380M6x50 DIN7380M6x50 DIN7380

MK01 630x6000mm fridge top panel

MK01 30x30x600 al. slat

M6 domed cap nut DIN986M6 domed cap nut DIN986M6 domed cap nut DIN986

B

C

D

1 2

A

321 4

B

A

5 6

C

Mud Kitchen

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

REVISION

PART NUMBER / DWG NO.:

DRAWN

APPV'D

NAME SIGNATURE DATE

MATERIAL:

DESCRIPTION:

SCALE: 1:7 SHEET 13 OF 39

A4wood, metal, plastic
WEIGHT: 

I.Agar 14.02.2025

MK01



M6x35 DIN7380M6x35 DIN7380M6x35 DIN7380M6x35 DIN7380M6x35 DIN7380M6x35 DIN7380

MK01 600x785mm fridge side panel 1

MK01 600x785mm fridge side panel 2

MK01 500x570mm fridge shelf

MK01 600x570mm fridge shelf

M6x35 DIN7991M6x35 DIN7991M6x35 DIN7991

M6x35 DIN7380M6x35 DIN7380M6x35 DIN7380

B

C

D

1 2

A

321 4

B

A

5 6

C

Mud Kitchen

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

REVISION

PART NUMBER / DWG NO.:

DRAWN

APPV'D

NAME SIGNATURE DATE

MATERIAL:

DESCRIPTION:

SCALE: 1:10 SHEET 14 OF 39

A4wood, metal, plastic
WEIGHT: 

I.Agar 14.02.2025

MK01



M6x35 DIN7380M6x35 DIN7380M6x35 DIN7380

MK01 600x785mm fridge front panel

M6x35 DIN7380M6x35 DIN7380M6x35 DIN7380M6x35 DIN7380

MK01 600x785mm fridge back panel

B

C

D

1 2

A

321 4

B

A

5 6

C

Mud Kitchen

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

REVISION

PART NUMBER / DWG NO.:

DRAWN

APPV'D

NAME SIGNATURE DATE

MATERIAL:

DESCRIPTION:

SCALE: 1:10 SHEET 15 OF 39

A4wood, metal, plastic
WEIGHT: 

I.Agar 14.02.2025

MK01



M6x35 DIN7380M6x35 DIN7380M6x35 DIN7380M6x35 DIN7380

6 x 50 Woodscrew

6 x 50 Woodscrew

B

C

D

1 2

A

321 4

B

A

5 6

C

Mud Kitchen

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

REVISION

PART NUMBER / DWG NO.:

DRAWN

APPV'D

NAME SIGNATURE DATE

MATERIAL:

DESCRIPTION:

SCALE: 1:10 SHEET 16 OF 39

A4wood, metal, plastic
WEIGHT: 

I.Agar 14.02.2025

MK01



A

DETAIL A
SCALE 1 : 5

M10 washer DIN125M10 washer DIN125

M10 domed cap nut DIN986 MK01 profile fillet

M10x120 bolt DIN603

B

C

D

1 2

A

321 4

B

A

5 6

C

Mud Kitchen

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

REVISION

PART NUMBER / DWG NO.:

DRAWN

APPV'D

NAME SIGNATURE DATE

MATERIAL:

DESCRIPTION:

SCALE: 1:10 SHEET 17 OF 39

A4wood, metal, plastic
WEIGHT: 

I.Agar 14.02.2025

MK01



M8x40 bolt DIN603M8x40 bolt DIN603

MK01 stove button

M8 domed cap nut DIN986M8 domed cap nut DIN986

M8 washer DIN125

M8 washer DIN125

MK01 978x135 stove front panel

B

C

D

1 2

A

321 4

B

A

5 6

C

Mud Kitchen

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

REVISION

PART NUMBER / DWG NO.:

DRAWN

APPV'D

NAME SIGNATURE DATE

MATERIAL:

DESCRIPTION:

SCALE: 1:5 SHEET 18 OF 39

A4wood, metal, plastic
WEIGHT: 

I.Agar 14.02.2025

MK01



 25 

MK01 978x460 stove back panel

M6x35 DIN7380M6x35 DIN7380

MK01 600x135 stove side panel

MK01 600x135 stove side panel

M6x35 DIN7380M6x35 DIN7380M6x35 DIN7380M6x35 DIN7380

MK01 978x135 stove front panel

B

C

D

1 2

A

321 4

B

A

5 6

C

Mud Kitchen

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

REVISION

PART NUMBER / DWG NO.:

DRAWN

APPV'D

NAME SIGNATURE DATE

MATERIAL:

DESCRIPTION:

SCALE: 1:10 SHEET 19 OF 39

A4wood, metal, plastic
WEIGHT: 

I.Agar 14.02.2025

MK01



M6 domed cap nut DIN986M6 domed cap nut DIN986M6 domed cap nut DIN986

M6x50 DIN7380M6x50 DIN7380M6x50 DIN7380

MK01 30x30x600 al. slat

MK01 978x615 stove panel

B

C

D

1 2

A

321 4

B

A

5 6

C

Mud Kitchen

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

REVISION

PART NUMBER / DWG NO.:

DRAWN

APPV'D

NAME SIGNATURE DATE

MATERIAL:

DESCRIPTION:

SCALE: 1:5 SHEET 20 OF 39

A4wood, metal, plastic
WEIGHT: 

I.Agar 14.02.2025

MK01



Playground stove circle, yellow
M8x40 bolt DIN603

M8 washer DIN9021

M8 domed cap nut DIN986

4x25 Screw DIN9112

B

C

D

1 2

A

321 4

B

A

5 6

C

Mud Kitchen

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

REVISION

PART NUMBER / DWG NO.:

DRAWN

APPV'D

NAME SIGNATURE DATE

MATERIAL:

DESCRIPTION:

SCALE: 1:5 SHEET 21 OF 39

A4wood, metal, plastic
WEIGHT: 

I.Agar 14.02.2025

MK01



M6 domed cap nut DIN986

M6 washer DIN125

MK01 sink

M6x35 DIN7380M6x35 DIN7380

Centre hole must be 32mm!!!

B

C

D

1 2

A

321 4

B

A

5 6

C

Mud Kitchen

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

REVISION

PART NUMBER / DWG NO.:

DRAWN

APPV'D

NAME SIGNATURE DATE

MATERIAL:

DESCRIPTION:

SCALE: 1:5 SHEET 22 OF 39

A4wood, metal, plastic
WEIGHT: 

I.Agar 14.02.2025

MK01



MK01 tap

M6x35 DIN7380M6x35 DIN7380

B

C

D

1 2

A

321 4

B

A

5 6

C

Mud Kitchen

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

REVISION

PART NUMBER / DWG NO.:

DRAWN

APPV'D

NAME SIGNATURE DATE

MATERIAL:

DESCRIPTION:

SCALE: 1:5 SHEET 23 OF 39

A4wood, metal, plastic
WEIGHT: 

I.Agar 14.02.2025

MK01



6 x 50 Woodscrew
M6x35 DIN7380M6x35 DIN7380

6 x 50 Woodscrew

M6x35 DIN7380M6x35 DIN7380

M6x35 DIN7380M6x35 DIN7380

B

C

D

1 2

A

321 4

B

A

5 6

C

Mud Kitchen

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

REVISION

PART NUMBER / DWG NO.:

DRAWN

APPV'D

NAME SIGNATURE DATE

MATERIAL:

DESCRIPTION:

SCALE: 1:10 SHEET 24 OF 39

A4wood, metal, plastic
WEIGHT: 

I.Agar 14.02.2025

MK01



B

MK01 650mm Post maakinnituseleMK01 650mm Post maakinnitusele

MK01 920mm PostMK01 920mm Post

DETAIL B
SCALE 1 : 5

M10x120 bolt DIN603

M10 washer DIN125M10 washer DIN125

M10 domed cap nut DIN986

Filling goes 
between panel 
and post

B

C

D

1 2

A

321 4

B

A

5 6

C

Mud Kitchen

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

REVISION

PART NUMBER / DWG NO.:

DRAWN

APPV'D

NAME SIGNATURE DATE

MATERIAL:

DESCRIPTION:

SCALE: 1:12 SHEET 25 OF 39

A4wood, metal, plastic
WEIGHT: 

I.Agar 14.02.2025

MK01



Plastic corner 90° 65x65mmPlastic corner 90° 65x65mm

M8x100 DIN7380

M8x100 DIN7380M8x100 DIN7380

Plastic corner 90° 65x65mm

B

C

D

1 2

A

321 4

B

A

5 6

C

Mud Kitchen

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

REVISION

PART NUMBER / DWG NO.:

DRAWN

APPV'D

NAME SIGNATURE DATE

MATERIAL:

DESCRIPTION:

SCALE: 1:13 SHEET 26 OF 39

A4wood, metal, plastic
WEIGHT: 

I.Agar 14.02.2025

MK01



M6x50 DIN7380M6x50 DIN7380M6x50 DIN7380M6x50 DIN7380

MK01 30x30x835 al. slatMK01 30x30x835 al. slatM6 domed cap nut DIN986M6 domed cap nut DIN986M6 domed cap nut DIN986M6 domed cap nut DIN986

B

C

D

1 2

A

321 4

B

A

5 6

C

Mud Kitchen

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

REVISION

PART NUMBER / DWG NO.:

DRAWN

APPV'D

NAME SIGNATURE DATE

MATERIAL:

DESCRIPTION:

SCALE: 1:5 SHEET 27 OF 39

A4wood, metal, plastic
WEIGHT: 

I.Agar 14.02.2025

MK01



C

DETAIL C
SCALE 1 : 4

M8x40 Art. 9121 TX-PIN

B

C

D

1 2

A

321 4

B

A

5 6

C

Mud Kitchen

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

REVISION

PART NUMBER / DWG NO.:

DRAWN

APPV'D

NAME SIGNATURE DATE

MATERIAL:

DESCRIPTION:

SCALE: 1:12 SHEET 28 OF 39

A4wood, metal, plastic
WEIGHT: 

I.Agar 14.02.2025

MK01



MK01 600x150 stove panel

MK01 978x60 stove panel

M6x35 DIN7380M6x35 DIN7380M6x35 DIN7380M6x35 DIN7380M6x35 DIN7380

B

C

D

1 2

A

321 4

B

A

5 6

C

Mud Kitchen

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

REVISION

PART NUMBER / DWG NO.:

DRAWN

APPV'D

NAME SIGNATURE DATE

MATERIAL:

DESCRIPTION:

SCALE: 1:5 SHEET 29 OF 39

A4wood, metal, plastic
WEIGHT: 

I.Agar 14.02.2025

MK01



D

DETAIL D
SCALE 1 : 6

M6x35 DIN7380M6x35 DIN7380M6x35 DIN7380

6 x 60 Woodscrew6 x 60 Woodscrew

B

C

D

1 2

A

321 4

B

A

5 6

C

Mud Kitchen

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

REVISION

PART NUMBER / DWG NO.:

DRAWN

APPV'D

NAME SIGNATURE DATE

MATERIAL:

DESCRIPTION:

SCALE: 1:12 SHEET 30 OF 39

A4wood, metal, plastic
WEIGHT: 

I.Agar 14.02.2025

MK01



E

M6x35 DIN7380M6x35 DIN7380M6x35 DIN7380M6x35 DIN7380

M6x35 DIN7380M6x35 DIN7380

MK01 978x445mm oven front panel

MK01 600x445mm oven side panel

MK01 978x445mm oven back panelM6x35 DIN7380

M6x35 DIN7380M6x35 DIN7380

MK01 600x135 oven side panel

DETAIL E
SCALE 1 : 5

M8 domed cap nut DIN986

M8 washer DIN125

MK01 stove button
M8x40 bolt DIN603

B

C

D

1 2

A

321 4

B

A

5 6

C

Mud Kitchen

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

REVISION

PART NUMBER / DWG NO.:

DRAWN

APPV'D

NAME SIGNATURE DATE

MATERIAL:

DESCRIPTION:

SCALE: 1:10 SHEET 31 OF 39

A4wood, metal, plastic
WEIGHT: 

I.Agar 14.02.2025

MK01



M6x35 DIN7380M6x35 DIN7380M6x35 DIN7380M6x35 DIN7380

MK01 963x630mm oven panel

M6x35 DIN7380M6x35 DIN7380

M6x35 DIN7380M6x35 DIN7380

B

C

D

1 2

A

321 4

B

A

5 6

C

Mud Kitchen

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

REVISION

PART NUMBER / DWG NO.:

DRAWN

APPV'D

NAME SIGNATURE DATE

MATERIAL:

DESCRIPTION:

SCALE: 1:8 SHEET 32 OF 39

A4wood, metal, plastic
WEIGHT: 

I.Agar 14.02.2025

MK01



MK01 600x295mm oven side panel

M6x35 DIN7380M6x35 DIN7380M6x35 DIN7380

M6x35 DIN7380M6x35 DIN7380M6x35 DIN7380

B

C

D

1 2

A

321 4

B

A

5 6

C

Mud Kitchen

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

REVISION

PART NUMBER / DWG NO.:

DRAWN

APPV'D

NAME SIGNATURE DATE

MATERIAL:

DESCRIPTION:

SCALE: 1:8 SHEET 33 OF 39

A4wood, metal, plastic
WEIGHT: 

I.Agar 14.02.2025

MK01



6 x 50 Woodscrew

MK01 630x6000mm fridge top panel

M6x35 DIN7380M6x35 DIN7380

M6x35 DIN7380M6x35 DIN7380

6 x 50 Woodscrew

B

C

D

1 2

A

321 4

B

A

5 6

C

Mud Kitchen

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

REVISION

PART NUMBER / DWG NO.:

DRAWN

APPV'D

NAME SIGNATURE DATE

MATERIAL:

DESCRIPTION:

SCALE: 1:8 SHEET 34 OF 39

A4wood, metal, plastic
WEIGHT: 

I.Agar 14.02.2025

MK01



F

MK01 650mm Post
MK01 650mm Post maakinnituseleMK01 650mm Post maakinnitusele

MK01 650mm Post

DETAIL F
SCALE 1 : 6

M10x120 bolt DIN603

MK01 profile fillet

M10 washer DIN125M10 washer DIN125

M10 domed cap nut DIN986

B

C

D

1 2

A

321 4

B

A

5 6

C

Mud Kitchen

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

REVISION

PART NUMBER / DWG NO.:

DRAWN

APPV'D

NAME SIGNATURE DATE

MATERIAL:

DESCRIPTION:

SCALE: 1:12 SHEET 35 OF 39

A4wood, metal, plastic
WEIGHT: 

I.Agar 14.02.2025

MK01



M8x100 DIN7380M8x100 DIN7380

M8x100 DIN7380M8x100 DIN7380

Plastic corner 90° 65x65mmPlastic corner 90° 65x65mm

Plastic corner 90° 65x65mmPlastic corner 90° 65x65mm

B

C

D

1 2

A

321 4

B

A

5 6

C

Mud Kitchen

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

REVISION

PART NUMBER / DWG NO.:

DRAWN

APPV'D

NAME SIGNATURE DATE

MATERIAL:

DESCRIPTION:

SCALE: 1:12 SHEET 36 OF 39

A4wood, metal, plastic
WEIGHT: 

I.Agar 14.02.2025

MK01



MK01 948x404 oven panel

M6x50 DIN7380M6x50 DIN7380M6x50 DIN7380M6x50 DIN7380

MK01 30x30x835 al. slatMK01 30x30x835 al. slat
M6 domed cap nut DIN986M6 domed cap nut DIN986M6 domed cap nut DIN986M6 domed cap nut DIN986

B

C

D

1 2

A

321 4

B

A

5 6

C

Mud Kitchen

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

REVISION

PART NUMBER / DWG NO.:

DRAWN

APPV'D

NAME SIGNATURE DATE

MATERIAL:

DESCRIPTION:

SCALE: 1:5 SHEET 37 OF 39

A4wood, metal, plastic
WEIGHT: 

I.Agar 14.02.2025

MK01



G

DETAIL G
SCALE 1 : 4

M8x40 Art. 9121 TX-PIN

B

C

D

1 2

A

321 4

B

A

5 6

C

Mud Kitchen

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

REVISION

PART NUMBER / DWG NO.:

DRAWN

APPV'D

NAME SIGNATURE DATE

MATERIAL:

DESCRIPTION:

SCALE: 1:12 SHEET 38 OF 39

A4wood, metal, plastic
WEIGHT: 

I.Agar 14.02.2025

MK01



H
DETAIL H

SCALE 1 : 5

M8x40 bolt DIN603 M8 washer DIN125
M8 domed cap nut DIN986

B

C

D

1 2

A

321 4

B

A

5 6

C

Mud Kitchen

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

REVISION

PART NUMBER / DWG NO.:

DRAWN

APPV'D

NAME SIGNATURE DATE

MATERIAL:

DESCRIPTION:

SCALE: 1:15 SHEET 39 OF 39

A4wood, metal, plastic
WEIGHT: 

I.Agar 14.02.2025

MK01


	Sheet1
	Drawing View1

	Sheet2
	Drawing View2

	Sheet3
	Drawing View3

	Sheet4
	Drawing View4

	Sheet5
	Drawing View5
	Drawing View6

	Sheet6
	Drawing View7
	Drawing View8
	Drawing View9
	Drawing View10
	Drawing View12
	Drawing View13
	Drawing View14

	Sheet7
	Drawing View15
	Drawing View16
	Drawing View17
	Drawing View18
	Drawing View19
	Drawing View20

	Sheet8
	Drawing View21
	Drawing View22
	Drawing View23
	Drawing View24
	Drawing View25
	Drawing View26
	Drawing View27
	Drawing View28
	Drawing View29
	Drawing View30
	Drawing View31

	Sheet9
	Drawing View32
	Drawing View33
	Drawing View34
	Drawing View35
	Drawing View36
	Drawing View37
	Drawing View38
	Drawing View39
	Drawing View40
	Drawing View41
	Drawing View42

	Sheet10
	Drawing View84

	Sheet11
	Drawing View45
	Drawing View85

	Sheet12
	Drawing View46

	Sheet13
	Drawing View47

	Sheet14
	Drawing View48

	Sheet15
	Drawing View49
	Drawing View50

	Sheet16
	Drawing View51

	Sheet17
	Drawing View52
	Detail View A (1 : 5)

	Sheet18
	Drawing View54

	Sheet19
	Drawing View55

	Sheet20
	Drawing View56

	Sheet21
	Drawing View57

	Sheet22
	Drawing View58

	Sheet23
	Drawing View59

	Sheet24
	Drawing View60
	Drawing View61

	Sheet25
	Drawing View62
	Detail View B (1 : 5)

	Sheet26
	Drawing View64

	Sheet27
	Drawing View65

	Sheet28
	Drawing View66
	Detail View C (1 : 4)

	Sheet29
	Drawing View68

	Sheet30
	Drawing View69
	Detail View D (1 : 6)

	Sheet31
	Drawing View71
	Detail View E (1 : 5)

	Sheet32
	Drawing View73

	Sheet33
	Drawing View74

	Sheet34
	Drawing View75

	Sheet35
	Drawing View76
	Detail View F (1 : 6)

	Sheet36
	Drawing View78

	Sheet37
	Drawing View79

	Sheet38
	Drawing View80
	Detail View G (1 : 4)

	Sheet39
	Drawing View82
	Detail View H (1 : 5)


